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Q1. 
 

 

A.  B.  

C.  D.  

 

Q2. 
 

 

A.  
B.  

C.  D.  

 

Q3. 
 

 

A.  B.  

C.  D.  

 

Q4. 

 

 

A.  B.  

C.  D.  

 

Q5. 
 

 

A.  B.  

C.  D.  

 

Q6. Choose the correct synonym for the word given below: 
Startle 

 

A. Upset B. Surprise 

C. Sad D. Mad 
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Q7. Choose the correct antonym for the word given below: 
Hostile 

 

A. Helpful B. Combative 

C. Lazy D. Nasty 

 

Q8. Choose the correct meaning for: 
A piece of cake 

 

A. An easy job B. Very difficult job 

C. A task of medium difficulty D. A difficult task 

 

Q9. Find the grammatically correct sentence from the following options. 
 

A. Tara took Aman and I for shopping B. Tara took Aman and I at shopping 

C. Tara took Aman and me for shopping D. Tara took Aman and me at shopping 

 

Q10. Complete the sentence using correct option for each blank that best fits the meaning of the 
sentence as a whole. 
I don't have a car, because I cannot ________ the price. 

 

A. afford B. buy 

C. purchase D. love 

 

Q11. Who among the following was the first Indian member of The House of Commons of the 
United Kingdom? 

 

A. Dadabhai Naoroji B. Keith Vaz 

C. Mancherjee Bhownaggree D. Shapurji Saklatvala 

Q11. 0K(?��O! � ? �!/  O  A?�@ �,  Q/m@  O  +AलO .?1$I0 @&}0 �(म⹍(�ल�?$ /O @O  L( %O? 
 

A. &?&?.?� (L1K�I B. �I% =?� 

C. /(�O1�I . K�?्䵇I D. >+ 1�I @�ल$=?ल? 
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Q12. Which of the following is NOT TRUE about the Pink ball test? 
 

A. The inner core of the ball is made of cork and 

leather 

B. It weighs 100g 

C. The ball is made from imported leather D. It's a day and night test match 

Q12. �+?  -Qल �O}�  O  @?-?' /O �(म⹍(�ल�?$ /O @O  L( @?  %( 
@त⑍0 AP? 
 

A. �े䜂& �? �K$91� �K1 �I��  �1 �/डO @O -(? AK$? AP B. �@�? =�( 100 ्䵇?/ AK$? AP 

C. �े䜂& �0?-$$ �/डO @O -(?� �� �?$I AP D. 0A /&( �1 1?$ �? �O}� /P� AP 
 

Q13. Which of the following is a tributary of River Brahmaputra? 
 

A. Ghaghara B. Gomti 

C. Yamuna D. Manas 

Q13. �(म⹍(�ल�?$ /O @O }्䵧+J}  ी @A?0  (&I  L( @I AP? 
 

A.  ? 1? B. �K/$I 

C. 0/I(? D. /?(@ 

 

Q14. The District level Panchayat is also known as ____________. 
 

A. Gaon panchayat B. Anchalik panchayat 

C. Zilla Parishad D. Gram Sabha 

Q14. �िल? }$1  ी +?�?0$  K ____________  O  z+ /O .I ि?(? ि?$? AP। 
 

A. ्䵇?/ +K�?0$ B. �	�लल� +K�?0$ 

C. ��ल? +91?& D. ्䵇?/ @.? 
 

Q15. The form of government where the supreme power or rule is in the hand of one individual 
or entity is: 

 

A. Democracy B. Autocracy 

C. Aristocracy D. Plutocracy 
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Q15. @1 ?1  ? =A z+ िA?? @=Kचᩍ� @m? 0? >?@( �  }0�ि 0? @?}%?  O  A?% /O AK$? AP, �@O _______  A$O AP । 
 

A. लK�$K} B. $?(?>?AI 

C. �I लI($K}/1?�$m} D. '-(� $m} 

 

Q16. The city of_______ in Haryana is known as 'city of weavers'. 
 

A. Ambala B. Sirsa 

C. Gurugram D. Panipat 

Q16. Aर10?#? /O _______ >A1  K '-J( 1K  O  >A1'  O  z+ /O ि?(? ि?$? AP। 
 

A. 
K-?ल? B. ल@1@? 

C. �Iy्䵇?/ D. +?(I+$ 

 

Q17. Who was the first Governor of Haryana ? 
 

A. Shri Ganpatrao Devji Tapase B. Shri B N Chakraborty 

C. Shri Dharma Vira D. Shri Hari Anand Barari 

Q17. Aर10?#?  O  +AलO 1?जᱍ0+?ल  L( %O? 
 

A. ्䵦I �#+$1?= &O=�I $?+@O B. ्䵦I -I �( �्䵅=$ी 

C. ्䵦I '/� ==1? D. ्䵦I A91 �(K& -1?1I 
 

Q18. On January 2, 2019 how many projects were approved to revive the mythical Saraswati 
River? 

 

A. 10 B. 12 

C. 11 D. 13 

Q18. 2 ि(=1I 2019  K +L1?�#  (&I @1}=$I  K +J(िI�=$  1(O  O  �ल� � $(I +र10Kि(?� ?  K /?िK1I &I �� %I? 
 

A. 10 B. 12 

C. 11 D. 13 
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Q19. On 12th February 2019, Prime Minister Narendra Modi visited which place in Haryana to 
lay foundation stone for 5 projects? 

 

A. Faridabad B. Kurukshetra 

C. Gurugram D. Ambala 

Q19. 12 ,1=1I 2019  K �'?(/?}I (1O� /K&I (O 5 +र10Kि(?� ?  ी �'?1�>ल? 1?(O  O  �ल� Aर10?#? /O � @ }%?(  ? &L1? � 0?? 
 

A. ,1I&?-?& B. �I y्䵌O} 

C. �Iy्䵇?/ D. 
K-?ल? 
 

Q20. As of Febraury 2020, who is the chief secretary of Haryana? 
 

A. Smt. Keshni Anand Arora, IAS B. Sh. DS Dheshi, IAS 

C. Sh. PK Gupta, IAS D. Sh. Prem Prashant, IAS 

Q20. ,1=1I 2020  ी �}%�$ /O, Aर10?#?  O  /J_0 @��=  L( Aै䠂? 
 

A. ्䵦I/$I �O >(I �(K& 
1Kड?, IAS B. ्䵦I !I�@ "O@I, IAS 

C. ्䵦I +I�O  �Io$?, IAS D. ्䵦I �O/ �>?K$, IAS 

 

Q21. As of February 2020, who is the chief minister of Haryana? 
 

A. Bhupinder Singh Hooda B. Bansi Lal 

C. Om Prakash Chautala D. Manohar Lal Khattar 

Q21. ,1=1I 2020  ी �}%�$ /O, Aर10?#?  O  /J_0/?}I  L( Aै䠂? 
 

A. . =+K&1 ल@KA AIड⅍!? B. -K@I ल?ल 

C. �/ ��?> �L�?ल? D. /(KA1 ल?ल �टὍ�1 
 

Q22. Which city is considered the cleanest in Haryana as per the Swachh Survekshan-2019 
findings? 

 

A. Sonipat B. Karnal 

C. Hisar D. Rohtak 

 

 

www.mseducationtv.com



 
Adv. No. 11/2019, Cat No. 02, Assistant Linemen (ALM) DHBVNL DEPARTMENT, HARYANA 

  Morning Session 
 

August 24, 2020  Page 6 of 26 

 

Q22. }=चᩍ� @=O�# -2019  O  
(J@?1 Aर10?#?  ?  L( @? >A1 @-@O }=चᩍ� /?(? ि?$? AP? 
 

A. @K(I+$ B. �1(?ल 

C. /A@?1 D. 1KA$� 

 

Q23. The _______ knows Haryana as the land of plentiful grains and immense riches. 
 

A. Ramayana B. Kamayani 

C. Arthashastra D. Mahabharata 

Q23. ____/O Aर10?#?  K ��J1 /?} /O 
(?ि �1 
+?1 '(  ी .K�/  O  z+ /O ि?(? ि?$? AP। 
 

A. 1?/?0# B. �?/?0(I 

C. 
%�>?}} D. /A?.?1$ 

 

Q24. What was the name of the town in the Kurukshetra district, where Krishna delivered the 
Bhagavadgita to Arjuna? 

 

A. Bawal B. Ladwa 

C. Thanesar D. Jyotisar 

Q24.  J y�O} �िलO  O  �@  }-O  ? (?/ ]0? %?, िA??  L �# (O 
िJु(  K .�=्䴽I$?  ? �+&O> �&0? %?? 
 

A. -?=ल B. ल?!=? 

C. %?(O@1 D. जᱍ0K-$@1 
 

Q25. Which city is known as the Heart of Haryana? 
 

A. Palwal B. Kosli 

C. Jind D. Faridabad 

Q25. � @ >A1  K Aर10?#?  O  ह㥃&0  O  z+ /O ि?(? ि?$? AP? 
 

A. +ल=ल B. �K@लI 

C. �IK& D. ,1I&?-?& 
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Q26. Which dam is situated in the Panchkula district of Haryana? 
 

A. Kaushalya Dam B. Anagpur Dam 

C. Mirzapur Check Dam D. Perch check Dam 

Q26. Aर10?#?  O  +?� J ल? �िलO /O  L( @? -??' �}%$ AP? 
 

A. �L>ल㉍0? -?K' B. 
(�+I1 -?K' 

C. ल/�?�+I1 �O� -?K' D. +�� �O� -?K' 

 

Q27. The Haryana Vidhan Sabha comprises of _________ members of Legislative assembly, 
directly elected from single seat constituencies. 

 

A. 80 B. 90 

C. 70 D. 60 

Q27. Aर10?#? �='?(-@.? /O________ �='?(-@.? @&}0 AK$O Aै䠂, िK @I'O � ल �(=?ु�( �O}K @O �J(O ि?$O Aै䠂। 
 

A. 80 B. 90 

C. 70 D. 60 

 

Q28. As of January 2020, who is the education minister of Haryana? 
 

A. Sandeep Singh B. Kamlesh Dhanda 

C. Ram Bilas Sharma D. Kanwar Pal 

Q28. ि(=1I 2020  K, Aर10?#?  O  �>�? /?}I  L( Aै䠂? 
 

A. @K&I+ ल@KA B. �/लO> "?K!? 

C. 1?/--ल?@ >/?� D. �K =1 +?ल 

 

Q29. Which is the state bird of Haryana? 
 

A. Black Francolin B. Red - wattled Lapwing 

C. Grey Francolin D. Spotted Owlet 
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Q29. Aर10?#?  ? 1?जᱍ0 +�I  L( @? AP? 
 

A. mलॅ� o?K�Iलल( B. 1O! - =्䵈लO! लॅ=+K� 

C. ्䵇O o?K�Iलल( D. }+I�O! �=लO� 

 

Q30. Kalesar National Park is situated in which district of Haryana? 
 

A. Gurgaon B. Yamunanagar 

C. Panchkula D. Rewari 

Q30.  लO@1 1?�रI0 �o?( Aर10?#?  O  � @ �िलO /O �}%$ AP? 
 

A. �I!�?	= B. 0/I(?(�1 

C. +K��I ल? D. 1O=?डI 
 

Q31. __________ is situated in the Hisar district of Haryana. 
 

A. Amusement Park B. Deer Park 

C. National Park D. Children's Park 

Q31. _____ Aर10?#?  O  �A@?1 �िलO /O �}%$ AP। 
 

A. �म⹍0 ज᰼/े䜂� +?��  B. /A1( �द♍0?( 

C. 1?�रI0 �द♍0?( D. ��ल㉍र( +?��  
 

Q32. Which is the most common language of Haryana? 
 

A. Punjabi B. Haryanvi 

C. Urdu D. Sanskrit 

Q32. Aर10?#?  ी @-@O �/ .???  L( @I AP? 
 

A. +K�?-I B. A910?#=I 

C. �& � D. @K}�ृ$ 
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Q33. ___________ started the magazine Sandesh in Hindi. 
 

A. Bhai Santokh Singh B. Tulasi Ram Sharma 

C. Deedar Singh D. Pt. Nekiram Sharma 

Q33. _________ (O �A?&I +�} ? '@m&O>'  ी >Jy�$  ी। 
 

A. .?� @K$K� ल@KA B. $Iल@I 1?/ >/?� 

C. &I&?1 ल@KA D. +K (O�I1?/ >/?� 
 

Q34. ______________ was Haryana's first official state poet. 
 

A. Dayachand Mayna B. Ayodhya Prasad Goyalea 

C. Uday Bhanu Hans D. Surendra Sharma 

Q34. ________ Aर10?#?  O  +AलO ��' ?र1  1?जᱍ0  �= %O। 
 

A. &0?�K& /0(? B. 
0Ko0? �@?& �K0लल0? 

C. �&0 .?(I AK@ D. @I1े䜂� >/?� 
 

Q35. ___________, the renamed poet used his sonorous songs to deliver the message of Vinoba 
Bhave to the masses. 

 

A. Bhai Parmanand B. Anupchand Aftab 

C. Khushiram Sharma D. Tulasiram Sharma Dinesh 

Q35. _____�=_0?$  �= %O, �िmAK(O �=(K-? .?=O  O  @?&O>  K ि(-ि( $  +A ?�?(O  O  �ल� 
+(O /'J1 �I$K  ? �}$O/?ल � 0? %?। 
 

A. .� +1/?(K& B. 
( +�K& �फ़幍$?- 

C. �I>I1?/ >/?� D. $Iल@I1?/ >/?� /&(O> 

 

Q36. _________________ Operating system enables people located at a different terminal to 
use a single computer system at same time. 

 

A. Real Time B. Batch 

C. Multi –tasking D. Distributed 
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Q36. _________ �+1O��?� �@}�/ 
ल�-
ल� ��/ु(ल +1 �}%$ �+0K� $?ु� ?  K �  AI @/0 /O �  AI  ? o0K�1 �@}�/  ? �+0K� 
 1(O /O @�/ -(?$? AP। 

 

A. 910ल �?�/ B. -P� 

C. /ल㉍�I-�?�}�K � D. )!�}रm0 �O! 
 

Q37. CPU chips are composed of __________ functional section. 
 

A. five B. three 

C. seven D. four 

Q37. CPU ��o@ __________  ?0?ुत⑍/  @O]>( @O -(? AK$? AP। 
 

A. +?K� B. $I( 

C. @?$ D. �?1 
 

Q38. A __________________ module is a device that converts spoken words into information 
that the computer can recognize and process. 

 

A. Microphone B. Voice recognition 

C. Optical Scanner D. Video Graphic adapter 

Q38. ________________ /Q!M0Kल �  �@? �+ 1# AP, िK -KलO �� >m&K  K �@I ि?( ?1I /O +र1=�$ु$  1$? AP �ि@O  ? o0K�1 �?1? 
+A�?(? ि? @ $? AP �1 �@O �K@O@ � 0? ि? @ $? AP। 

 

A. /?�्䵅KफK( B. =I�@ 91��)(>( 

C. ��o��ल }�P (1 D. =I)!0K ्䵇?+,� �!?o�1 
 

Q39. In how many ways e-mail hacking can be done? 
 

A. Five B. Six 

C. Three D. Four 

Q39. �-/Oल AP� ? � � $(O $1I K @O  ी ि? @ $I AP? 
 

A. +?K� B. �A 

C. $I( D. �?1 
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Q40. Complete the series: 
 
982, 940, 900, ______, 826 

 

A. 842 B. 852 

C. 862 D. 872 

Q40. ्䵦??ल?  K +K#ु  ी�ि�: 
982, 940, 900, ______, 826 

 

A. 842 B. 852 

C. 862 D. 872 

 

Q41. If 'TABLE' is coded as 'SZAKD' then how is 'LIZARD' coded? 
 

A. KHYQZC B. KHYZQC 

C. KJABSE D. KHYZCQ 

Q41. 0�& 'TABLE'  K 'SZAKD'  O  z+ /O  K! � 0? �0? AP, $K 'LIZARD'  K  P @O  K! � 0? ि?0O�?? 
 

A. KHYQZC B. KHYZQC 

C. KJABSE D. KHYZCQ 

 

Q42. Choose the number, which is different from others in the group. 
 

A. 51 B. 97 

C. 91 D. 77 

Q42. �@ @?_0?  ? �J(?=  1O िK @/KA /O &K@1I @?_0?� ? @O �.m( AP। 
 

A. 51 B. 97 

C. 91 D. 77 

 

Q43. Complete the analogy: 
ACMO : FHRT :: GIOQ : ? 

 

A. VNLT B. LNVT 

C. VLNT D. LNTV 
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Q43. @?o�0  K +K#ु  ी�ि0O: 
ACMO : FHRT :: GIOQ : ? 

 

A. VNLT B. LNVT 

C. VLNT D. LNTV 

 

Q44. A mobile phone costs Rs.6500. It was sold for Rs.6370. Find the loss percent. 
 

A. 3% B. 5% 

C. 7% D. 2% 

Q44. �  /K-?�ल ,K(  ी  ी/$ 6500 z+� AP। �@O 6370 z+� /O -O�? �0?। A?�( ��$>$ _?$  ी�ि�। 
 

A. 3% B. 5% 

C. 7% D. 2% 

 

Q45. Simplify: 
120 + [ 30 * {30 - (15  3)}] = ? 

 

A. 780 B. 3750 

C. 870 D. 3570 

Q45. @1ल  ी�ि0O: 
120 + [ 30 * {30 - (15  3)}] = ? 

 

A. 780 B. 3750 

C. 870 D. 3570 

 

Q46. Find the value of 35% of 240? 
 

A. 96 B. 48 

C. 72 D. 84 

Q46. 240  O  35%  ? /?( _?$  ी�ि0O? 
 

A. 96 B. 48 

C. 72 D. 84 
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Q47. If Shalini, Malini and Rohini divide Rs. 30,000 in the ratio of 1:2:3, then Rohini's share is 
_____. 

 

A. Rs.5000 B. Rs.10000 

C. Rs.15000 D. Rs.20000 

Q47. 0�& >?�ल(I, /?�ल(I �1 1K�A#I (O 30,000 z+� �+@ /O 1: 2: 3  O  
(J+?$ /O -??�O, $K 1K�A#I  ? �A}@? _____ AP। 
 

A. 5000 z+� B. 10000 z+� 

C. 15000 z+� D. 20000 z+� 

 

Q48. A spherical mirror whose reflecting surface is curved inwards is called a _____________ 
mirror. 

 

A. convex B. Conflict 

C. concave D. Plane 

Q48. �  �KलI0 &+ु# �ि@ ी +1?=$ु  @$A 
?&1  ी �1 /J)I AK$I AP �@O _____________ &+ु#  A? ि?$? AP। 
 

A. �्䵈ल B. 
@K�$ 

C. 
=$ल D. @/$ल 

 

Q49. The word 'atom' is derived from the Greek word __________which means indivisible. 
 

A. Atomos B. Atmosphere 

C. Autonomous D. Atomic 

Q49. +1/?#J '>m& ्䵇I  >m& __________@O �ल0? �0? AP �ि@ ? /$ल- 
�=.?जᱍ0 AP। 
 

A. 
�K/K@ B. ��/K@+,01 

C. ��ो䬂(/@ D. ��Iल/� 

 

Q50. Night blindness is caused due to the deficiency of vitamin _______. 
 

A. A B. D 

C. E D. K 
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Q50. �=�?�/( _______  ी  /I @O 1$ौ䰂'I AK$I AP। 
 

A. A B. D 

C. E D. K 

 

Q51. In an Energy Meter the Driving System, ______________, Registering System and 
_____________ form the basic construction parts. 

 

A. Moving System, Parallel System B. Series System, Braking System 

C. Moving System, Braking System D. Magnetic Flux System, Shunt System 

Q51. �  �(िI /I�1 /O, ्䵑?��=?� �@}�/, ______________, 1�ि}�र1?� �@}�/ �1 _____________, -J�(0?&I �(/?ु# .?�K 
 K -(?$O Aै䠂। 

 

A. / ==K� ल@}�/, @/?(?K$1 ल@}�/ B. @I1I� ल@}�/, }O+�K � ल@}�/ 

C. / ==K� ल@}�/, }O+�K � ल@}�/ D. �IK-�I0 oल]@ ल@}�/, >K� ल@}�/ 

 

Q52. Which energy meter system contains a rotating aluminium disc that is placed between the 
air gaps of series and shunt magnets and mounted on a shaft? 

 

A. Magnetic Flux B. Moving System 

C. Registering System D. Driving System 

Q52. � @ �ि?ु /I�1 �@}�/ /O �  1K�O��?� �ल㉍0K/I�(0/ �!}  AK$I AP �ि@O ्䵦L??ल? �1 >?� /P_(O�  O  =?0J 
?$1?ल  O  -I� 1?? ि?$? AP 
�1 �  >?o� +1 �]?0? ि?$? AP? 

 

A. /P)(O/�� oल]@ B. / ==K� ल@}�/ 

C. 1O��}�91K� ल@}�/ D. र?�==K� ल@}�/ 

 

Q53. In an Energy Meter, what happens when magnetic field interacts with eddy current? 
 

A. A braking torque is produced which exerts force 

and causes the load current flow through the 

current coil to stop the rotating disc 

B. A torque is produced which exerts force and 

causes the disc to stop rotating 

C. A braking torque is produced which exerts force 

and causes the voltage coil to lag by 90o 

D. A torque is produced which exerts force and 

causes the disc to rotate 
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Q53. �  �(िI /I�1 /O, ि- �J?- ी0 �O} �)I  1?� +1 +1}+1 �.?= !?ल$? AP $- ]0? AK$? AP? 
 

A. �� }O+�K � �I��  �त⑍+m( AK$? AP, �K -ल ल�?$? AP �1 
1K�O/�K� )!}� �K 1K�(O �O  लल�, =$�/?( �I�ल �O  /?o0/ @O, 
लK! �1K� �O  �=?A �? �?1# -($? AP। 

B. �� �I��  �त⑍+m( AK$? AP, �K -ल ल�?$? AP, �1 )!}� �K 
  /(O @O 1K�$? AP| 

C. �� }O+�K � �I��  �त⑍+m( AK$? AP, �K -ल ल�?$? AP �1 
=Kल㉍�O� �I�ल �K, 90o @O +I�O  �1 &O$? AP| 

D. �� �I��  �त⑍+m( AK$? AP, �K -ल ल�?$? AP �1 )!}� �O  
  /(O �?, �?1# -($? AP| 

 

Q54. In an Energy meter, how is the shunt electromagnet connected in driving System? 
 

A. The shunt electromagnet's coil is connected 

with the supply and carries current inversely 

proportional to the resistance. 

B. The shunt electromagnet's coil is connected 

with the series magnet and carries current 

proportional to the resistance 

C. The shunt electromagnet's coil is connected 

with the supply and carries current proportional to 

the supply voltage 

D. The shunt electromagnet's coil is connected 

with the series magnet and carries current 

inversely proportional to the supply voltage 

Q54. �  �(िI /I�1 /O, >?� �लO]रK/P_(O� ्䵑?��=?� �@}�/ /O  P @O िJ)? AK$? AP? 
 

A. >K� �लO]रK/P)(O� �? �I�ल, ==$1# �O  @?% �Iड? AI� AP 
�1 =A �1K� लO �?$? AP, �K 1Oल@}�Om@ �O  ==+1I$ �(I+?-$� 

AP। 

B. >K� �लO]रK/P)(O� �? �I�ल, ्䵦ृK�ल? �IK-� �O  @?% �Iड? AK$? 
AP �1 1Oल@}�े䜂m@ �O  �(I+?-$� AK(O =?लO, �1K� �K लO �?$? AP। 

C. >K� �लO]रK/P)(O� �? �I�ल, ==$1# �O  @?% �Iड? AK$? AP 
�1 �K ==$91$ =Kल㉍�O� �O  �(I+?-$�, �1K� �K लO �?$? AP| 

D. >K� �लO]रK/P)(O� �? �I�ल, ्䵦ृK�ल? �IK-� �O  @?% �Iड? AK$? 
AP �1 �K ==$91$ =Kल㉍�O� �O  ==+1I$ �(I+?-$� AK(O =?लO, 
�1K� �K लO �?$? AP। 

 

Q55. Choose the expression for Faraday's second Law of Electromagnetic Induction. 
Note:  is the electromotive force,  is the magnetic flux, N is the number of turns 

 

A.  = -Nd /dt B.  = Nd /dt 

C.  = N2d /dt D.  = -N(d /dt)2 

Q55. ,P 1?!O  O  �=oJ$ �Jम⹍- ी0 �O1#  O , &K@1O �(0/  O  �ल�, 
�.}0�ि �J(O। 
o0?( &O:  �लO]रK/K��= -ल AP,  /P_(O��  oल]@ AP, N  J/?=K  ी @?_0? AP 

 

A.  = -Nd /dt B.  = Nd /dt 

C.  = N2d /dt D.  = -N(d /dt)2 
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Q56. Which of the following transformers are called Ferroresonant transformer regulator? 
 

A. Constant voltage transformer B. Variable voltage transformer 

C. Auto transformer D. Distribution transformer 

Q56. �(म⹍(�ल�?$ /O @O  L( @O र??@,Q/ु1  K ,O 1@K1Om@O� र??@,?/ु1 �(0?/   A? ि?$? AP? 
 

A. �Im}�m� =Kल㉍�O� र?K@,?/�1 B. =O91�-ल =Kल㉍�O� र?K@,?/�1 

C. ��K र?K@,?/�1 D. ==$1# र?K@,?/�1 
 

Q57. To implement various cooling methods, the transformer type whose size is upto 25 kVA 
size is selected. What type of Transformer is it? 

 

A. Spiral core Transformer B. Oil immersed Transformer 

C. Spiral Self-Cooled Transformer D. Dry Type Transformer 

Q57. �=�.m( >I$ल( �=�'0K  K ल?�K  1(O  O  �ल� र??@,Q/ु1 � ?1 �ि@ ? � ?1 25 kVA AP �J(? ि?$? AP| 0A � @ � ?1  ? 
र??@,?/ु1 AP? 

 

A. }+?�1ल �K1 र?K@,?/�1 B. $Oल /ै䠂 !I-?� �� र?K@,?/�1 

C. }+?�1ल @Oल㉍,-� ल㉍! र?K@,?/�1 D. र?� �?�+ र?K@,?/�1 
 

Q58. In a Transformer, if the secondary voltage is greater than primary voltage, then what type 
of transformer is this? 

 

A. Transformer on DC Supply B. Step Down Transformer 

C. Ideal Transformer D. Step Up Transformer 

Q58. �  र??@,?/ु1 /O 0�& /?o0�/  =Kल㉍�Oि �?%�/  =Kल㉍�Oि @O 
�'  AP $K 0A � @ � ?1  ? र??@,?/ु1 AP? 
 

A. DC ==$1# +1 �'?91$ र?K@,?/�1 B. }�O+ !?�( र?K@,?/�1 

C. ��)!0ल र?K@,?/�1 D. }�O+ 
+ र?K@,?/�1 
 

Q59. If an electrical machine converts mechanical energy into electrical energy, it is called 
______. 

 

A. Generator B. Transformer 

C. DC Motor D. AC Motor 
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Q59. 0�& �  �=oJ$ />I( 0??�}  �ि?ु  K �=oJ$ �ि?ु /O +र1=�$ु$  1$I AP $K �@O ______  A? ि?$? AP। 
 

A. �O(1O�1 B. र?K@,?/�1 

C. DC /K�1 D. AC /K�1 
 

Q60. The synchronous speed in induction motor is given by _____ . 
 
Note: f = Supply frequency 
 
P = Number of poles for which stator winding is wound 

 

A. 120 P/f B. 120 f/P 

C. 120 x f x P D. f x P /120 

Q60. �?!]>( /K�1 /O �@?्䵅K(@ }+I! _____ �?1? &I ि?$I AP। 
o0?( &O: f = �=$र1$ �=L�m 
 

P = ्䵗J=K  ी @?_0? �ि@ O  �ल� }�O�1 =?�?�!?�  K  K/�&?र1$ � 0? ि?$? AP 
 

A. 120 P/f B. 120 f/P 

C. 120 x f x P D. f x P /120 

 

Q61. What is the number of parallel paths in wave windings in DC machines? 
 

A. One B. Three 

C. Two D. Five 

Q61. DC />I(K /O =O= =?�?�!?_@ /O @/?(??$1 +%K  ी @?_0? ]0? AP? 
 

A. �� B. $I( 

C. &K D. +?K� 

 

Q62. Consider a scenario in a DC motor. 
When a conductor of Length "L" is placed inside a magnetic field of strength "H", flux 
density "B" and current "I" is flowing through the conductor, then what will be the 
magnitude of force F acting on it? 

 

A. F=(B/iL) cos  newtons B. F=BiL sin  newtons 

C. F=B (-i) L sin  newtons D. F=BiL cos  newtons 
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Q62. DC /K�1 /O �  +र1o�0 +1 �=�?1  1O 
 

ि- �   ? !]�1. �ि@ ी ल?-?� "L" AP, �  �J?- ी0 �O}, �ि@ ी $? $ "H",oल]@  ?  (त⑍= "B" AP,  O  
?&1 1?? �0? AP �1 
 1?� "I",  ? !]�1  O  /?o0/ @O -A 1A? AP, $K �@ +1 -ल F  ी .0?=A$? ]0? AK�I? 

 

A. F=(B/iL) cos  newtons B. F=BiL sin  newtons 

C. F=B (-i) L sin  newtons D. F=BiL cos  newtons 

 

Q63. ______ is an example of an active electronic component. 
 

A. Resistor B. Transistor 

C. Capacitor D. Inductor 

Q63. ______ �  @�्䵅0 �लO]रQ�(   �   ? �&?A1# AP। 
 

A. 1Oल@}�1 B. र?K��}�1 

C. �+Pल@�1 D. �K!]�1 
 

Q64. At what temperature and atmosphere, would a carbon composition resistor rod required to 
be sintered during its preparation? 

 

A. 2500 degree Celsius in Hydrogen B. 1400 degree Celsius in Hydrogen 

C. 1400 degree Fahrenheit in Neon D. 2500 degree Fahrenheit in Neon 

Q64. � @ $?+/?( �1 =?$?=1# /O �   ?-ु(  म⹍+KिI>( 
=1K'  1Q!  K �@ ी $P0?1I  O  &L1?( "?ल? ि?(O  ी �=�0 $? AK�I? 
 

A. A?�रK�( /ै䠂 2500 )!्䵇I @O�ल㉍@0@ B. A?�रK�( /ै䠂 1400 )!्䵇I @O�ल㉍@0@ 

C. (I0( /ै䠂 1400 )!्䵇I ,?1O(A?�� D. (I0( /ै䠂 2500 )!्䵇I ,?1O(A?�� 

 

Q65. When the resistance color code is read from right to left on a 4 band resistor, the ____ 
band gives the tolerance value of the resistor. 

 

A. third B. second 

C. first D. fourth 
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Q65. ि- 1O�ि}�O@  ल1  K!  K 4 -ै䠂! 1O�@}�1 +1, &?�? @O -?�? +]? ि?$? AP $K ____ -ै䠂! 1O�@}�1  ? @�A�#J$? /?( &O$? AP| 
 

A. $I@1? B. & @1? 

C. �%/ D. �L%? 
 

Q66. _____ can be used to output a resistance which would be a function of the voltage applied 
to it. 

 

A. Passive resistors B. Capacitors 

C. Trimmer D. Potentiometers 

Q66. _____  ? �+0K�, �  ��$1K'  K ���+J�  1(O  O  �ल� � 0? ि? @ $? AP, िK �@ +1 ल?�K =Kल㉍�Oि  ? �   ?0 ुAK�?। 
 

A. -(��्䵅0 �-$1K'� B. �P +Oल@�@� 

C. /र/1 D. +K�े䜂ल>0K/I�1 
 

Q67. On the basis of energy band theory, semiconductors have an almost _____[1] valence 
band and an almost _____[2] conduction band and ____[3] forbidden energy gap 

 

A. [1]full, [2] empty,[3]narrow B. [1]empty, [2]full,[3]big 

C. [1]full,[2]full,[3]no D. [1]empty,[2]empty,[3]narrow 

Q67. �ि?ु -ै䠂! �@द♍??$  O  �'?1 +1, @O/I ? !]�@ु /O ल�.� �  _____[1]=PलO@ -ै䠂! �1 �  ल�.� _____[2]  ? !]>( -ै䠂! �1 
__[3] �(�?द♍ �ि?ु 
?$1 Aै䠂| 

 

A. [1] + #�, [2] �?लI,[3]@K�I#� B. [1] �?लI, [2] + #�,[3] -डO 

C. [1] + #�,[2] + #�,[3] (AIK D. [1] �?लI,[2] �?लI,[3]@K�I#� 
 

Q68. Which of the following factors can be used to vary the conduction property of an intrinsic 
semiconductor? 

 

A. Shape B. Temperature 

C. Size D. Color 

Q68. �(म⹍(�ल�?$  ?1 K /O @O � @ ? �+0K� �  �?$र1  
'ु�?ल   ी �?ल( @?+�m  K �.m(  1(O  O  �ल� � 0? ि? @ $? AP? 
 

A. ��?1 B. $?+/?( 

C. @?�� D. 1K� 
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Q69. Which of the following components is used to create an N-type semiconductor? 
 
a.Trivalent impurity 
 
b.Pentavalent impurity 
 
c.Intrinsic semiconductor 
 
d.Extrinsic semiconductor 

 

A. a and c B. b and d 

C. b and c D. a and d 

Q69. N-� ?1  O  @O/I ? !]�1 -(?(O  O  �ल�, �(म⹍(�ल�?$ /O @O � @  �   ? �+0K�, � 0? ि?$? AP? 

a.�}@?0Kि  
>Jद♍$? 
 

b.+O�?=PलO� 
>Jद♍$? 
 

c.��mर?�@  @O/I ? !]�1 
 

d.�]@�र�m@  @O/I ? !]�1 
 

A. a �1 c B. b �1 d 

C. b �1 c D. a �1 d 

 

Q70. Which of the following options indicate an advantage of using ICs? 
 

A. Low power dissipation B. Ease in intervention of inductors 

C. Unlimited value of capacitors at high voltage D. Low power consumption 

Q70. �(म⹍(�ल�?$ /O @O  L( @? �= ल㉍+ ICs  ? �+0K�  1(O  ? �  ,?0&? &>?ु$? AP? 
 

A. �/ --�लI !Oल@+O>( B. �K !]�@� �O  A}$्䵌O+ /े䜂 �@?(I 

C. �चᩍ� =Kल㉍�O� +1 �P +Oल@�1 �? 
@Iल/$ / ल㉍0 D. �/ --�लI �I �+$ 
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Q71. The code _____ denotes a linear IC. 
 

A. LH B. LS 

C. CD D. L5 

Q71.  K! _____ �  लI�(01 IC  K &>?ु$? AP। 
 

A. LH B. LS 

C. CD D. L5 

 

Q72. An MSI chip contains____ components embedded on it. 
 

A. lesser than 10 B. greater than 10 and less than 100 

C. lesser than 1000 and greater than 100 D. greater than 10000 

Q72. �  MSI ��+ +1 ______ �म⹍-O!O!  �  AK$O Aै䠂| 
 

A. 10 @O �/ B. 10 @O 
�'� �1 100 @O �/ 

C. 1000 @O �/ �1 100 @O 
�'� D. 10000 @O 
�'� 

 

Q73. The instruments that record the readings of the quantity being measured on a graph sheet 
are called ______ instruments. 

 

A. Indicating B. Integrating 

C. Recording D. Graphing 

Q73. =O �+ 1#, िK �  ्䵇?, >I� +1 /?+I ि? 1AI /?}?  O  1I�!?�  K र1 Q!ु  1$O Aै䠂, �mAO ______ �?}रK /O�M@  A? ि?$? AP। 
 

A. �K)!�O /�K� B. �K�O्䵇O/�K� 

C. 91�I)!ि㼂� D. ्䵇?+,K � 

 

Q74. ____ torque is applied to an indicating instrument to move the pointer in it. 
 

A. Controlling B. Damping 

C. Fluid friction D. Deflecting 
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Q74. __ �Q ु  K, @K�   K �@/O }%?(??$र1$  1(O  O  �ल�, �  @? O $ �+ 1# +1 ल�?0? ि?$? AP| 
 

A. �K रKललK� B. !I/=+K� 

C. oल �! +o]>( D. )!oलO�]�K� 

 

Q75. A measuring instrument that uses gravity control for applying the controlling torque can 
only be used in ______ position. 

 

A. vertical B. horizontal 

C. slanting, upto 120 degrees D. slanting, upto 45 degrees 

Q75. �  /?+(O =?ल? �+ 1#, िK �(0?}# �Q ु ल�?(O  O  �ल�, �Jyत⑍=? ?ु# �(0?}#  ? �+0K�  1$? AP,  O =ल ______ �}%�$ /O �+0K� 
� 0? ि? @ $? AP| 

 

A. �ड? B. ्䵌P-$� 

C. -$1�?, 120 )!्䵇I $� D. -$1�?, 45 )!्䵇I $� 

 

Q76. What is the unit of illumination? 
 

A. Candela B. Lumen 

C. Lux D. Flux 

Q76. 1K>(I  ी /?}  ]0? AP? 
 

A. �P m!Oल? B. लI/O( 

C. ल]@ D. oल]@ 

 

Q77. The flux contained per unit solid angle of a source of 1 candela is called ___________. 
 

A. Lumen B. Luminous flux 

C. Luminous Intensity D. Intensity flux 

Q77. 1  ै䠂 !Oल?  O  ्䵨K$  O  ��$, � ?�  K@  K# /O �(�A$ oल]@  K _____________ A? ि?$? AP| 
 

A. लI/O( B. लIल/(@ oल]@ 

C. लIल/(@ �K�े䜂ल@�I D. �K�े䜂ल@�I oल]@ 
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Q78. The illumination at a point on any surface is _______ to the square of the distance 
between the surface and the light source. 

 

A. directly proportional B. inversely proportional 

C. independent D. equivalent 

Q78. � @I .I @$A +1, �  �-?&J +1 1K>(I, @$A �1 � ?> ्䵨K$  O  -I�  ी &K1I  O  =�ु  O  ___________ AP| 
 

A. @I'O �(I+?-$� B. ==+1I$ �(I+?-$� 

C. }=$K} D. -1?-1 
 

Q79. On what principle do fuses work? 
 

A. Heating effect of resistance B. Heating effect of voltage 

C. Heating effect of electrodes D. Heating effect of current 

Q79. � @ �@द♍??$ +1 ़㱸0K=  ?/  1$O Aै䠂? 
 

A. �-$1K' �? $?+ �.?= B. =Kल㉍�O� �? $?+ �.?= 

C. �लO]रK! �? $?+ �.?= D. �1K� �? $?+ �.?= 

 

Q80. Which fuses are larger in size? 
 

A. DC fuses B. AC fuses 

C. Striker type fuses D. Cartridge type fuses 

Q80.  L( @O ़㱸0K= � ?1 /O -)O AK$O Aै䠂? 
 

A. DC फ़幍0 ज᰼ B. AC फ़幍0 ज᰼ 

C. }र?��1 �?�+ �O  फ़幍0 ज᰼ D. �?1$ @ ��?1 �O  फ़幍0 ज᰼ 

 

Q81. Which of the following is a high voltage fuse? 
 

A. Cartridge type HRC fuses B. Striker type fuses 

C. Rewireable fuses D. Drop out type fuses 
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Q81. �(म⹍(�ल�?$ /O @O  L( �  �चᩍ� =Kल㉍�Oि o0Kि AP? 
 

A. �?1$ @ ��?1 �O  HRC फ़幍0 ज᰼ B. }र?��1 �?�+ �O  फ़幍0 ज᰼ 

C. 1I=?01O-ल फ़幍0 ज᰼ D. रI+ ��� फ़幍0 ज᰼ 

 

Q82. Buchholz relay is a protection relay used in oil immersed transformers. Under what 
conditions does Buchholz Relay will NOT operate? 

 

A. Gas bubbles are formed inside the transformer 

due to faults 

B. Level of transformer oil falls that leads to no 

movement of baffle plate 

C. Transformer oil flows rapidly from conservation 

tank to the main 

D. Level of transformer oil falls that leads to 

movement of baffle plate 

Q82. Buchholz र1लO �  @J1�? र1लO AP, �ि@ ? �+0K�, $Oल /O !K-O A � र??@,Q/ु1 /O � 0? ि?$? AP। Buchholz र1लO � ( +र1�}%�$0K 
/O  ?/ नही䀂  1O�?? 

 

A. &K? �O  �?1# र?K@,?/�1 �O  
K&1 �P@ -Iल-IलO -($O Aै䠂| B. र?K@,?/�1 �O  $Oल �? }$1 ��1$? AP ��@@O -फल oलO� �? 
�K� @K�ल( (AIK AK$? AP| 

C. र?K@,?/�1 �? $Oल @K1्䵌# �ै䠂� @O /I_0 $� $O�I @O -A$? AP| D. र?K@,?/�1 $Oल �? }$1 ��1$? AP ��@@O -फल oलO� �? 
@K�ल( AK$? AP| 

 

Q83. What leads to fracture of electrical wire stand ? 
 

A. Excessive crimp B. Inadequate support for wire 

C. Inadequate Tightening of threaded fasteners D. Shrinkage of board 

Q83. ]0?, �-िलI  O  $?1 }�ै䠂!  O  �P ]�1  ?  ?1# -($? AP? 
 

A. 
त⑍0�'� �K ( B. $?1 �O  लल� 
+0?�o$ @/%�( 

C. }O!O! ,?}�(1ो䬂 �? 
+0?�o$ �@(? D. -K!� �? @K�K�( 

 

Q84. Which one of the windings does NOT belong to concentric windings of transformer? 
 

A. Cross-over B. Sandwich 

C. Helical D. Disc 
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Q84.  L( @? =?�?�!?�, र??@,?/ु1  ी �?]?  J/?=&?1 @O, @?-?�'$ (AK AP? 
 

A. ्䵅I@ -�=1 B. @ै䠂!==� 

C. AOलल�ल D. )!}� 

 

Q85. Which type of fire extinguishers are used to put out electrical fires from electrical 
components or energized electrical equipment? 

 

A. Class A B. Class B 

C. Class C D. Class K 

Q85. � @ � ?1  O  
�_(>?/  0?}K  ? �+0K�, �=oJ$ �+ 1#K 0? �-िलI  O  �+ 1#K @O, �-िलI  ी ��  K �( ?ल(O  O  �ल�, � 0? 
ि?$? AP? 

 

A. =�� A B. =�� B 

C. =�� C D. =�� K 

 

Q86. What is the role of Class A extinguisher? 
 

A. Used on ordinary combustibles such as wood 

and paper 

B. Used on flammable liquids 

C. Used on electrically energized fire D. Used on nonflammable metals 

Q86. =�ु A �]@��?�_=>1  ी ]0? .K�/ ? AP? 
 

A. ल�डI �1 �?�� �P@O @?'?1# �Iम⹍-�}�-ल㉍@ +1 �+0K� 

+�0? �?$? AP 
B. जᱍ=ल(>Iल $1ल +&?%ो䬂 +1 �0K� +�0? �?$? AP 

C. ==द♍0I$ ��?� +1 �}$O/?ल +�0? �?$? AP D. �P1-जᱍ=ल(>Iल '?$I�K +1 �+0K� +�0? �?$? AP 
 

Q87. Which statement is INCORRECT about water extinguishers? 
 

A. Used for class A fires (Combustible metal) B. Should not be used for B and C fires 

(Flammable liquids and gases) 

C. Extinguishes the fire by taking heat element of 

fire triangle 

D. Extinguishes the fire by taking oxygen element 

of the fire triangle 
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Q87. +?(I  O  �]@��?�_=>1  O  -?1O /O  L( @? -0?( �ल$ AP? 
 

A. =�� �� �� (&A(>Iल '?$I) �O  लल� �0I]$ B. -I �1 @I �� (जᱍ=ल(>Iल $1ल +&?%� �1 �P@ो䬂) �O  लल� 

�}$O/?ल (AIK +�0? �?(? �?/A� 

C. 
�)( -}�K# �? $?+ $त⑍= लO�1 �� �K -I�?$? AP D. 
�)( -}�K# �? �]@I�( $त⑍= लO�1 �� �K -I�?$? AP 
 

Q88. Which instrument is used for conducting tests after wire installation? 
 

A. Screwdriver B. Test Light 

C. Megger D. Pliers 

Q88. $?1 }%?+(?  O  -?& +1I�#  1(O  O  �ल� � @ �+ 1#  ? �+0K� � 0? ि?$? AP? 
 

A. }्䵅 र?�=1 B. �O}� ल?�� 

C. /O�1 D. oल?0@� 
 

Q89. Which coloured wire is used for grounding connection? 
 

A. Purple B. Red 

C. Green D. Blue 

Q89. ्䵇?�?�!?�  (O]>(  O  �ल� � @ 1?�  O  $?1  ? �+0K� � 0? ि?$? AP? 
 

A. ++�ल B. ल?ल 

C. A1? D. (Iल? 
 

Q90. Which factor does NOT affect the type of wire that will be installed in any electrical 
device? 

 

A. Temperature B. Conductors size 

C. Colour Code D. Whether above or below the ground 

Q90.  L( @?  ?1  � @I .I �=oJ$ �+ 1# /O }%?�+$ AK(O =?लO $?1  O  � ?1  K �.?�=$ (AK  1$? AP? 
 

A. $?+/?( B. �K !]�1 ��?1 

C. 1K� �K! D. �?AO �/I( �O  �+1 0? (I�O 
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